| Efficiency vs Dxy |

1.2

efficiency vs dxy
=

B i S — S — — — — — — — R |
| 7' | |
()

B2

0.95,

-20 -15 -10

-5 0

5 10 15 20

TP dxy (cm)

| fake+duplicates vs dxy |

fake+duplicates rate vs dxy

Ratio

o
©
[

o
o))
[

o
~
|

L)

0.9

T R A —

50 21510 =5 0

.....................................................................

5

510 15 20
track dxy (cm)

| Efficiency vs Dz |

—=— DQM_original_stepZ_tibar-phasel-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

—+— DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

0.6

N 1.2 ” N v . .
§ N Do a—p—
0 - : ) u : D PinggppaeatT :
> i ; > L : : :
R ISSSRS NSRS USSR SRS NS - g |
c L :
k) i . 0.8
£ ool g [
e [0 B
o 0.8_ S i
L <3
>
©
+
[©)
X~
©
=

0.4

0.2

.......................................

......................................

Ratio

10

20 -10 0

2030

TP dz (cm)

o
o))
[

o
~
|

1020 30
track dz (cm)



	Contents
	Page 1


